Unique Auctions Catalogue 29 Nov 2017

- 1 4 shelves of picture frames £10.00 £20.00
- 2 A box of miscellaneous items including cups & pictures £10.00 £20.00
- 3 A quantity of miscellaneous items including wine rack & wooden signs etc. (3 shelves) £10.00 -£20.00
- 4 A quantity of home computer parts including Computer, keyboard & printer £10.00 £20.00
- 5 A quantity of various carpentry tools including mitre saw, circular saw blades & chisels etc. £10.00 £20.00
- A quantity of home recording equipment including mixers, microphones & microphone stand etc. £10.00 £20.00
- 7 A large quantity of craft items etc. (3 shelves) £10.00 £20.00
- 8 3 pine kitchen chairs £10.00 £20.00
- 9 3 briefcases £10.00 £20.00
- 10 A quantity of nintendo computer parts including 'Band Hero' controllers £10.00 - £20.00
- 11 A quantity of kitchenalia including scales etc. £10.00 £20.00
- 12 A quantity of bags & handbags etc. £10.00 £20.00
- 13 A quantity of miscellaneous Christmas items including crackers, tablecloths & napkins etc. £10.00 £20.00
- 14 A quantity of picture frames & mirror etc. £10.00 £20.00
- 15 A 7 drawer tool cabinet with selection of tools & fasteners etc. £10.00 £20.00
- 16 A quantity of LP records & CD's £10.00 £20.00
- 17 A large quantty of dolls including Teddy bear etc. (4 shelves) £10.00 £20.00
- 18 A 4 drawer tool cabinet, bench vice & DIY magazines etc. £15.00 £25.00
- 19 A quantity of miscellaneous items including lamp, mirror & tray etc. (2 shelves) £10.00 £20.00
- 20 A cased Singer sewing machine £10.00 £20.00
- 21 2 heavy duty electric motors £15.00 £25.00
- 22 5 shelves of Christmas decorations £20.00 £30.00
- 23 2 shelves of electrical appliances £10.00 £20.00
- 24 A quantity of plates & cups etc. Including Royal Albert & Carltonware etc. £10.00 £20.00
- 25 A Mandolin multi slicer, electric kitchen knife & 2 hairdryers £10.00 £20.00
- 5 ten pin bowling balls, a set of 'boules' & crown green bowls £10.00 £20.00
- 27 A quantity of glassware including comport, bowls, vases & wine glasses etc. £10.00 £20.00

- 28 A power drill & various DIY tools, fasteners & electricals £10.00 £20.00
- 29 A quantity of garden ornaments & glassware etc. (5 shelves) £10.00 £20.00
- A quantity of china including animal figures, shire horse & cart & commemorative plates etc. £10.00 £20.00
- 31 A large lot of various tools (2 shelves) £10.00 £20.00
- 32 A suitcase £10.00 £20.00
- 33 A quantity of brass & copper etc. £10.00 £20.00
- 34 A Kenwood super chef & 1 other £10.00 £20.00
- 35 A large metal box of spanners & other DIY decorating tools £10.00 £20.00
- 36 A towel rail £10.00 £20.00
- 37 2 coffee grinders & casserole dish £10.00 £20.00
- 38 A quantity of framed & glazed embroidered pictures £10.00 £20.00
- 39 A quantity of ceramic plant pots etc. (2 shelves) £10.00 £20.00
- 40 A garden parasol £10.00 £20.00
- 41 A quantity of fishing equipment nets, stools etc. £10.00 £20.00
- 42 A quantity of terracotta pots £10.00 £20.00
- 43 A fine glazed top bureau bookcase £10.00 £20.00
- 44 A round pine top table £10.00 £20.00
- 45 2 cane armchairs £10.00 £20.00
- A quantity of history books on The Tudors and English Civil War including Bess of Hardwick, Mary Queen of Scots etc £20.00 £30.00
- 47 A desk £10.00 £20.00
- 48 A Dimplex Eco electric radiator and one other electric heater £10.00 £20.00
- 49 A quantity of pillows £10.00 £20.00
- 50 2 good two seater settees £10.00 £20.00
- 51 A set of Taylor Made golf clubs in bag and one other bag £10.00 £20.00
- 52 A set of matching curtains and quilts etc £10.00 £20.00
- 53 2 pine kitchen chairs £10.00 £20.00
- 54 A quantity of table lamps £10.00 £20.00
- 55 2 upholstered stools and 1 small table £10.00 £20.00
- 56 An old cart wheel £10.00 £20.00
- 57 2 snooker cues in metal cases, one purported to belong to Joe Davis and engraved as such £10.00 -£20.00
- 58 A mirror back sideboard top £10.00 £20.00
- 59 A collection of Mason's Brown Velvet china

1

- £10.00 £20.00
- 60 A quantity of police Review magazines £10.00 £20.00
- 61 An old tool box with electric drills and other tools £10.00 £20.00
- 62 A quantity of gardening accessories £10.00 £20.00
- 63 A large box of sundry items and a collapsable work bench £10.00 £20.00
- 64 A work bench £10.00 £20.00
- 65 A large rug £10.00 £20.00
- 66 A quantity of ties, shirts etc £10.00 £20.00
- 67 A collection of pottery and china £10.00 £20.00
- 68 A 500W reciprocating saw & tool box with contents £10.00 £20.00
- 69 An AIWA CD and karaoke system etc £10.00 £20.00
- 70 A jug and bowl set with raised floral decoration £10.00 £20.00
- 71 A Poole Pottery vase £10.00 £20.00
- 72 2 painted kitchen chairs £10.00 £20.00
- 73 A large quantity of pictures and frames £10.00 £20.00
- 74 2 trays of tools and fixtures and a box of tools £10.00 £20.00
- 75 2 boxes of soft toys £10.00 £20.00
- 76 A box of old games and puzzles £10.00 £20.00
- 77 2 glass & chrome TV stands £10.00 £20.00
- 78 A white bed side 3 drawer chest of drawers £10.00 £20.00
- 79 A pair of 3 drawer white chest of drawers £10.00 £20.00
- 80 A Lever Industrial S.80 cleaner £10.00 £20.00
- 81 An Electrolux Velocity Petlover vacuum £10.00 £20.00
- 82 A 3 drawer chest of drawers £10.00 £20.00
- 83 A large collection of horns and antlers £10.00 £20.00
- 84 A garden table £10.00 £20.00
- Various aquatic pond parts including 2 Pro-Clear advantage pumps £10.00 £20.00
- 86 A wheelbarrow and contents of tools £10.00 £20.00
- 87 A Zanussi upright washer £10.00 £20.00
- A metal 3 tier topiary/flower holder and a 2 shelf corner cabinet £10.00 £20.00
- 89 A 1960s retro yellow top table £10.00 £20.00
- 90 A quantity of garden statues £10.00 £20.00
- 91 A microwave £10.00 £20.00
- 92 A Sharp microwave £10.00 £20.00

- 93 A White Knight sensor dry tumble dryer £10.00 £20.00
- 94 A quantity of assorted candles £10.00 £20.00
- 95 A pine cupboard with drawers £10.00 £20.00
- 96 A wooden ladder £10.00 £20.00
- 97 A HoMedics massager £10.00 £20.00
- 98 A BEKO tumble dryer £10.00 £20.00
- 99 A Morphy Richards microwave £10.00 £20.00
- 100 A Fridgemaster fridge/freezer £10.00 £20.00
- 101 A New World gas cooker £10.00 £20.00
- 102 A garden bench and 4 chairs £10.00 £20.00
- 103 A silver TV stand £10.00 £20.00
- 104 A set of weights £10.00 £20.00
- 105 A boxed Telios Hoover £10.00 £20.00
- 106 A 5 drawer chest of drawers £10.00 £20.00
- 107 A VAX Turbo Tool cleaner £10.00 £20.00
- 108 A tea chest of garden tools etc £10.00 £20.00
- 109 A Scotts Evergreen spreader and a Powerbase push mower & a Morphy Richards steam cleaner £10.00 £20.00
- 110 A Mounfield Laser petrol mower £10.00 £20.00
- 111 A mixed set of golf clubs, golf bag and balls £10.00 £20.00
- 112 2 pine doors a/f £10.00 £20.00
- 113 A Power Craft sprayer £10.00 £20.00
- 114 A tea chest of garden tools etc £10.00 £20.00
- 115 An Electrolux Chic 1000W hoover £10.00 £20.00
- 116 A wooden ladder and metal ladder £10.00 £20.00
- 117 A green stome bench with fish plinth bases a/f £10.00 £20.00
- 118 A green stome bench with fish plinth bases a/f £10.00 £20.00
- 119 2 sack barrows £10.00 £20.00
- 4 pine dining chairs and 4 dining chairs with upholstered seats and abcks £10.00 £20.00
- 121 A large red rug £10.00 £20.00
- 122 A step ladder £10.00 £20.00
- 123 2 mahogany bed ends and headboards and 2 single mattresses £10.00 £20.00
- 124 2 chimney pots £10.00 £20.00
- 125 An office desk, and matching cabinet and chest of drawers and a stool £10.00 £20.00
- 126 A quantity of garden tools £10.00 £20.00
- 127 A quantity of tools, brushes etc £10.00 £20.00
- 128 2 metal lidded bins £10.00 £20.00
- 129 An Electrolux Contour 750W Hoover £10.00 £20.00
- 130 A step ladder, tools, pots etc £10.00 £20.00
- 131 A ladies white Challenge bike £10.00 £20.00

- 132 A ladder £10.00 £20.00
- 133 A stainless steel catering kitchen stand £10.00 £20.00
- 134 2 sets of metal shelving £10.00 £20.00
- 151 A quantity of artificial flowers & a fly catcher shade £10.00 £20.00
- 152 2 suitcases £10.00 £20.00
- 153 A quantity of vases etc. £10.00 £20.00
- 154 A quantity of collectors teapots £10.00 £20.00
- 155 A quantity of brassware icluding hip flask etc. £20.00 £30.00
- 156 A jardinier & a vase £10.00 £20.00
- 157 A quantity of shoes (sizes 5.5 & 6) £10.00 £20.00
- 158 2 boxed Andrew James single induction hobbs £20.00 £30.00
- 159 A terracotta vase, 2 table lamps & a decanter £10.00 £20.00
- 160 A quantity of wooden items including boomerang & mirror etc. £20.00 £30.00
- 161 A quantity of framed & glazed pictures £10.00 £20.00
- 162 2 framed oil paintings 'landscape & horse carriage' £20.00 £30.00
- A contemporary 'spaniel portrait' in gilt frame & a ship scene 'loading the cart' £20.00 £30.00
- 164 An Adnams & Co Ltd advertising mirror £15.00 £25.00
- 165 A small cream chais longue £20.00 £30.00
- 166 A pair of onyx lamp bases £15.00 £25.00
- 167 A Bosson's plaque of Shakespeare's house (approximate diameter 38cm) £15.00 £25.00
- 168 13 pieces of oriental coffee ware £10.00 £20.00
- 169 A quantity of dominoes & a cribbage board £10.00 £20.00
- 170 A jardienier £10.00 £20.00
- 171 A pheasant ornament £10.00 £20.00
- 172 4 boxed Matchbox Superkings including motorcycle racing set £40.00 £60.00
- 173 A quantity of glass items including candlestick & scent bottle etc. £15.00 £25.00
- 174 A quantity of jugs & vases £15.00 £25.00
- 175 A quantity of arts & crafts items £10.00 £20.00
- 176 A 5 shelf oak effect bookcase £10.00 £20.00
- 177 A quantity of cut glass items including vases & salt & pepper pots etc. £20.00 £30.00
- 178 A framed & glazed picture of ship at sea, signed C. Lewington '74' £10.00 £20.00
- 179 A large 2 handled vase £10.00 £20.00
- 180 A 4 drawer chest of drawers £10.00 £20.00
- 181 A very large quantity of Christmas decorations & trees £20.00 £30.00

- 182 A quantity of framed & glazed pictures £10.00 £20.00
- 183 A domed 3 shelf bamboo/wicker bookcase £10.00 £20.00
- 184 A boxed model of a Land Rover £10.00 £20.00
- 185 A quantity of playing cards, dominoes & chess pieces etc. £10.00 £20.00
- 186 A jardinier £10.00 £20.00
- 187 A cuckoo clock £20.00 £30.00
- 188 18 pieces of oriental china including teapot etc £20.00 £30.00
- 189 A large quantity of kitchen items including knife block & cookie jar etc. £15.00 £25.00
- 190 3 framed & glazed pictures & 2 others £15.00 £25.00
- 191 A cockeral & pig ornament £10.00 £20.00
- 192 A quantity of reference books & novels £10.00 £20.00
- 193 2 ornaments being elephant & bull & a figurine Catherine the Great £15.00 £25.00
- 194 A quantity of clocks including carriage clock £10.00 £20.00
- 195 A Xenius radio, cassette & CD stereo with remote control £15.00 £25.00
- 196 A quantity of books on USA history including Native Americans & Civil War etc. £15.00 £25.00
- 197 A quantity of boxed cars including Lone Star & Revell etc. Table footboall & Hot Wheels service centre £20.00 £30.00
- 198 A quantity of shoes & slippers (sizes 3 & 5) £10.00 £20.00
- 4 bound sets of magazines Take off (3 volumes) History of railways (2 volumes) The living countryside (10 volumes) & The elite (4 volumes) £10.00 - £20.00
- 200 A pair of oriental figures £10.00 £20.00
- 201 2 Toby jugs & 3 miniature Toby jugs £10.00 £20.00
- 202 A mixed lot of silver plate, pewter & glassware £15.00 £25.00
- 203 A quantity of ornaments including a musical porcelain egg etc £10.00 £20.00
- 204 A large box of Diecast Hot Wheels, Matchbox & Majorette cars etc. £20.00 £30.00
- 205 A quantity of spanners £10.00 £20.00
- 206 A quantity of mantle clocks £15.00 £25.00
- 207 A quantity of animal figures including cats & dog etc. £15.00 £25.00
- 208 An inlaid wooden box A/F £10.00 £20.00
- 209 A quantity of glass items including art glass swan dish etc. £10.00 £20.00
- 210 A 3 branch ceiling light, stone flaggon from C.

| | Perry Ltd. Toxteth Park, Liverpool & a cobblers last £15.00 - £25.00 | 238 | A quantity of brass items including lamp & coal scuttle etc. £20.00 - £30.00 |
|-----|---|-----------------------------------|---|
| 211 | A quantity of steam railway Dvd's & books £15.00 - £25.00 | 239 | 7 Eddie Stobart lorries including 1 limited edition & a Guiness lorry £20.00 - £30.00 |
| 212 | A large quantity of Noritake Progression china & cutlery (4 shelves) £30.00 - £40.00 | 240 | A quantity of Paragon teaware (34 pieces) £20.00 - £30.00 |
| 213 | A box of Diecast including Matchbox, Superkings & Corgi cars etc. £20.00 - £30.00 | 241 | A collection of Diecast vehicles including 4 boxed Oxford lorry carriages & Oxford commercials etc. |
| 214 | A ewer shaped jug & 1 other £10.00 - £20.00 | | £20.00 - £30.00 |
| 215 | A quantity of animal figures including cats & dog etc. £10.00 - £20.00 | 242 | A quantity of miscellaneous items including teapots, ashtrays & jugs etc. £10.00 - £20.00 |
| 216 | A quantity of horse ornaments including fairground horses etc. £15.00 - £25.00 | 243244 | 3 Wade Toby jugs & an ashtray £15.00 - £25.00 A Murano clown & Tea Clipper in a bottle £10.00 - |
| 217 | 2 European figural relief plates featuring weather scenes £15.00 - £25.00 | 245 | £20.00 A quantity of glass bowls & vases etc. (2 shelves) |
| 218 | A quantity of office items including rulers, & | | £20.00 - £30.00 |
| | stapler etc. £10.00 - £20.00 | 246 | 3 wall planters £15.00 - £25.00 |
| 219 | A capodimonte figure A/F, Victorian pot pourri vase & a Lamb Navy rum jug etc. £10.00 - £20.00 | 247 | A quantity of books on Second World War including Dunkirk, Normandy, Arnhem, Gestapo, |
| 220 | A cutlery box (empty) £10.00 - £20.00 | 0.40 | aircraft & Prisoners of war etc. £20.00 - £30.00 |
| 221 | A quantity of history books including Ancient Greece, Romans & Military etc. £15.00 - £25.00 | 248 | A mahogany and glazed corner cabinet £20.00 - £30.00 |
| 222 | 6 Eldorado Native American figures £15.00 - £25.00 | 249 | A Royal Albert Old Country Roses cake stand, tureen with lid and platter (Made in England) |
| 223 | An assortment of crystal & other glassware including wine glasses & vases etc. £15.00 - £25.00 | | £15.00 - £25.00 |
| | | 250 | A gilt framed oil on canvas The Black Swan signed but indistinct £10.00 - £20.00 |
| 224 | A quantity of Bavaria teaware (21 pieces) £15.00 - £25.00 | 251 | A quantity of children's and other books £10.00 - £20.00 |
| 225 | A quantity of booked Matchbox & Lledo models £20.00 - £30.00 | 252 | 2 tiered ash trays and a small plinth £10.00 - £20.00 |
| 226 | A quantity of Diecast including Matchbox & Lesney etc. £15.00 - £25.00 | 253 | A quantity of Portmeirion Botanic Garden pottery (25 pieces) £20.00 - £30.00 |
| 227 | A pair of horse figures £10.00 - £20.00 | 254 | An oak octagonal table £10.00 - £20.00 |
| 228 | A miniature ornamental saddle on stand £10.00 - £20.00 | 255 | A quantity of silverplate including teapots, coffee pots etc. £10.00 - £20.00 |
| 229 | 8 Corgi models on fire engines/men including 'nine double nine' series £20.00 - £30.00 | 256 | A Lincolnshire Standard Trophy in the form of a cog and chain £10.00 - £20.00 |
| 230 | A shoe shine box & contents £20.00 - £30.00 | 257 | A cane glass topped coffee table £10.00 - £20.00 |
| 231 | A pair of George Jones & Sons coffee pots £10.00 | 258 | 2 walking sticks £10.00 - £20.00 |
| 232 | - £20.00 A quantity of miscellaneous items including | 259 | A TASCO 750 Power Microscope and a boxed Rolf Harris Stylophone £10.00 - £20.00 |
| | briefcase & boxed Brownie camera etc. £20.00 - £30.00 | 260 | A nice oak occasional table £10.00 - £20.00 |
| 233 | A quantity of books on the Napoleonic war including Trafalgar, Waterloo, French Marshals & | 261 | A collection of approximately 35 gravy boats £20.00 - £30.00 |
| | Grande Armee etc. £20.00 - £30.00 | 262 | A Samsung monitor and a Panasonic HDD and |
| 234 | 4 oriental figures £20.00 - £30.00 | | DVD player £10.00 - £20.00 |
| 235 | 2 Japanese part tea sets & a Chinese teapot £15.00 - £25.00 | 263 | A Portmeirion Botanic Garden pottery umbrella stand and 3 graduated Botanic Garden tins £10.00 |
| 236 | A quantity of bags, handbags & purses etc. (2 shelves) £10.00 - £20.00 | 264 | - £20.00 An elm wood torchere stand £15.00 - £25.00 |
| 227 | , | 265 | An antique effect office desk light £10.00 - £20.00 |
| 237 | A large box of Diecast including Dinky, Corgi & Matchbox Hot Wheels etc. £20.00 - £30.00 | 200 | An antique eliect office desk light £10.00 - £20.00 |

| 266 | A Spode blue and white bowl, Royal Bonn Tokio Vase and 12 pieces of gold tea ware £20.00 - £30.00 | | case etc. £20.00 - £30.00 |
|------------|---|-----|---|
| | | 295 | 3 Casa spill vases £10.00 - £20.00 |
| 267 | A collection of rules etc. £10.00 - £20.00 | 296 | 6 Royal Doulton owls on stand £20.00 - £30.00 |
| 268 | A round occasional table £10.00 - £20.00 | 297 | A collection of crested china £10.00 - £20.00 |
| 269 | Two Fine Art books: Paul Henry by S B Kennedy and Money by Himself edited by Richard Kendall | 298 | A painted Russian egg, boxed Smiths stop watch and a boxed Mary Rose compass £10.00 - £20.00 |
| 270 | £10.00 - £20.00 | 299 | A 19th century Doulton Lambeth stoneware vase £10.00 - £20.00 |
| | Portmeirion Botanic Garden pottery: two boxes some a/f £10.00 - £20.00 | 300 | 3 Royal Doulton figurines: Rachel, Debbie and Karen £20.00 - £30.00 |
| 271 | An ottoman £10.00 - £20.00 | 301 | A mother of pearl card case £10.00 - £20.00 |
| 272 | Two boxes of books including royalty £10.00 - £20.00 | 302 | A rare early 20th century Crown Devon tankard "Constitution o f the Java Commodore John Paul |
| 273 | Three vintage cuddly toys including large elephant and talking bugs bunny (sound a/f) £10.00 - £20.00 | | Young" £20.00 - £30.00 |
| 274 | An old barrel £25.00 - £35.00 | 303 | A silver cigarette case £20.00 - £30.00 |
| 275 | A Kodak bakelite127 camera in case and a Kodak | 304 | A quantity of perfume bottles etc. £10.00 - £20.00 |
| 276 | Brownie Model 1 camera in box £10.00 - £20.00 A large quantity of Portmeirion Botanic Garden | 305 | A cased pair of opera glasses (F Gamm, Hamburg) and another pair £10.00 - £20.00 |
| | pottery: approximately 36 pieces £20.00 - £30.00 | 306 | A collection of cases and boxes including fine maplewood snuff, shell purse etc £10.00 - £20.00 |
| 277 | A brass topped Middle Eastern table £10.00 - £20.00 | 307 | A Royal Worcester brooch, a Scottish thistle brooch and other interesting items £10.00 - £20.00 |
| 278 | A collection of miniatures and silhouettes £10.00 - £20.00 | 308 | A large bag of old Victorian and other pennies £10.00 - £20.00 |
| 279 | A quantity of linen and lace £10.00 - £20.00 | 309 | A Winston Churchill speech August 20th 1940 |
| 280 | A box of LP records £10.00 - £20.00 | 303 | "The Few" £10.00 - £20.00 |
| 281 | A large Goss Loving Cup Arms of Wales £15.00 - | 310 | A quantity of watches etc. £10.00 - £20.00 |
| 202 | £25.00 | 311 | An upholstered chair £10.00 - £20.00 |
| 282 | An Eversharp propelling pencil and two Tallon pens (in Tallon box) £10.00 - £20.00 | 312 | A quantity of gravy boats £10.00 - £20.00 |
| 283 | An Oriental figure of a man on small plinth a/f £10.00 - £20.00 | 313 | A small carved wooden table and one other £10.00 - £20.00 |
| 284 | A Bentima 8 day round mantel clock and a small mantel barometer £10.00 - £20.00 | 314 | A collection of vintage linen and lace £10.00 - £20.00 |
| 285 | A collection of glass including Victorian £10.00 - | 315 | A quantity of LPs, 45s and CDs £10.00 - £20.00 |
| | £20.00 | 316 | 3 wooden chairs £10.00 - £20.00 |
| 286 | A collection of miniature pots including Hitler Gesta-Po £10.00 - £20.00 | 317 | A collection of Portmeirion Botanic Garden pottery £10.00 - £20.00 |
| 287 | 3 Franklin Mint birds (1 a/f) and 2 other bisque | 318 | 3 pieces of decorative glass £10.00 - £20.00 |
| 288 | style figures £10.00 - £20.00 A collection of silverplate including Walker and | 319 | A marble topped cast iron bottom table £10.00 - £20.00 |
| 200 | Hall £10.00 - £20.00 | 320 | A S F B J 60 Paris doll in original clothes and an |
| 289 290 | 5 half pin dolls and 1 other dolls £10.00 - £20.00 | 204 | early plastic doll £10.00 - £20.00 |
| | A Victorian potpourri vase featuring Mother & Child and Family £10.00 - £20.00 | 321 | A good quantity of crystal glasses etc £10.00 - £20.00 |
| 291 | A collection of Britain's soldiers and other lead soldiers £10.00 - £20.00 | 322 | A 3 tiered table £10.00 - £20.00 |
| 292 | A brass inkstand and a pair of cufflinks £10.00 - | 323 | A collection of silverplate etc. £10.00 - £20.00 |
| | £20.00 | 324 | A nest of three tables with matching magazine rack £10.00 - £20.00 |
| 293 | A pair of English Chinese style vases £20.00 - £30.00 | 325 | A quantity of picture frames £10.00 - £20.00 |
| 294 | 4 watches including boxed Sekonda, Slazenger in | 326 | Art History and Reference books - a good collection of Art History books with European bias, |

| | including monographs £60.00 - £80.00 | 358 | An upholstered footstool £10.00 - £20.00 |
|-----|--|------------|---|
| 327 | A Dyson vacuum cleaner £10.00 - £20.00 | 359 | A set of scales and 16 weights £10.00 - £20.00 |
| 328 | Cooker and Gardening books - a good collection of books on gardening and the history of gardening together with others on cookery and domestic history £40.00 - £60.00 | 360 361 | A nest of three tables £10.00 - £20.00 |
| | | | A quantity of books - 14 Observer books, 1909 Mrs Beetons Everyday Cookery book, 1960 Locospotters annual, 1889 Hymns Ancient and |
| 329 | a Silver Cross pram £10.00 - £20.00 | | Modern £10.00 - £20.00 |
| 330 | A bergere chair £10.00 - £20.00 | 362 | A quantity of plant pots £10.00 - £20.00 |
| 331 | A quantity of perfume candles, gloves etc. £10.00 - £20.00 | 363 | A box of stamps etc £10.00 - £20.00 |
| | | 364 | An ottoman in need of restoration £10.00 - £20.00 |
| 332 | A quantity of vases including Crown Devon £10.00 - £20.00 | 303 | A quantity of glass bowls etc £10.00 - £20.00 |
| 333 | An old embossed cup and a quimper pin dish | 366 | A box of assorted LPs £10.00 - £20.00 |
| | £10.00 - £20.00 | 367 | 2 framed and glazed rural scenes one after Dipnall and one after Rex N Preston £10.00 - £20.00 |
| 334 | A marble topped coffee table £10.00 - £20.00 | 368 | A Toshiba flat screen TV with remote control and |
| 335 | A soda syphon, pack of Sparklets, ice bucket etc. £10.00 - £20.00 | | instruction book £20.00 - £40.00 |
| 336 | 3 good pieces of Port Meirion Botanic Garden | 369 | A retro sideboard / drinks cabinet £15.00 - £25.00 |
| | pottery £10.00 - £20.00 | 370 | A framed and glazed watercolour of a Gate and Field Beyond by T E J Brooke, a framed and |
| 337 | A didgeridoo £10.00 - £20.00 | | glazed photo of a Loch and an oil on board £10.00 |
| 338 | A 2 tiered coffee table £10.00 - £20.00 | | £20.00 |
| 339 | A Persian art jug and one other £10.00 - £20.00 | 371 | An oak book case £10.00 - £20.00 |
| 340 | A towel rail and a good lot of scarves £10.00 - £20.00 | 372 | A painted 2 drawer chest and a sewing box £10.00 - £20.00 |
| 341 | A good lot of Port Meirion Botanic Garden trays, planters etc. £10.00 - £20.00 | 373 | Two framed and glazed Spanish Bull Fighting watercolours £10.00 - £20.00 |
| 342 | A good lot of gravy boats £10.00 - £20.00 | 374 | A 7 piece bedroom suite consisting of chest of |
| 343 | A collapsible fretwork table £10.00 - £20.00 | | drawers and wardrobes £20.00 - £30.00 |
| 344 | A wooden fire surround £10.00 - £20.00 | 375 | A 1950s single wardrobe £10.00 - £15.00 |
| 345 | A large assortment of British History books | 376 | 3 paintings of continentals scenes £10.00 - £15.00 |
| | including militaria, Zulu War, Falklands, The Devonshires etc £20.00 - £30.00 | 377 | A marble clock and 1 other £10.00 - £20.00 |
| 346 | | 378 | A wall unit £10.00 - £15.00 |
| | A quantity of Arizona Highway magazines etc £10.00 - £20.00 | 379 | An Academy handpainted figurine New Born £10.00 - £15.00 |
| 347 | A chest £10.00 - £20.00 | 380 | A wardrobe and dressing unit £10.00 - £20.00 |
| 348 | A coffee table £10.00 - £20.00 | 381 | A double divan bed with mattress and headboard |
| 349 | A John Lennon Live in New York City plaque £10.00 - £20.00 | 382 | £10.00 - £20.00 A Pot Black snooker table a/f with snooker |
| 350 | An oak side table £10.00 - £20.00 | | accessories and a chess set consisting of board |
| 351 | A copper kettle £10.00 - £20.00 | 200 | and pieces £10.00 - £20.00 |
| 352 | 6 square Port Meirion Botanic Garden plates and 5 round Port Meirion Botanic Garden dishes | 383 | A print of 18th century Sailing Ships after T Dyer £10.00 - £20.00 |
| 252 | £10.00 - £20.00 | 384 | A collection of dolls including porcelain headed, Leonardo, boxed nationality dolls £10.00 - £20.00 |
| 353 | A pair of bergere arm chairs £10.00 - £20.00 | 385 | A mid 20th Century wardrobe £10.00 - £20.00 |
| 354 | A box of books on art, first editions etc £10.00 - £20.00 | 386 | A late Victorian mirror backed sideboard £20.00 - £30.00 |
| 355 | 5 good pieces of Port Meirion Botanic Gardens including large tureen £10.00 - £20.00 | 387 | A good collection of Art Glass, crystal, Murano |
| 356 | An old barrel £25.00 - £35.00 | 200 | and other glass £15.00 - £25.00 |
| 357 | A wooden sewing box, sewing basket £10.00 - | 388 | A Pagenta guitar with act and \$10.00 |
| | £20.00 | 389 | A Resonata guitar with soft case £10.00 - £20.00 |

| 390 | A 9 branch chandelier £20.00 - £30.00 | 425 | A side table a/f £10.00 - £15.00 |
|-----|--|-----|---|
| 391 | A wall clock £10.00 - £20.00 | 426 | A bedroom chair and stool with tapestry work |
| 392 | Approximately 20 Ladybird books and set of 7 Narnia books £10.00 - £20.00 | 427 | £10.00 - £20.00 A small twin pedestal desk with leather top £10.00 |
| 393 | A retro tea trolley £10.00 - £15.00 | | - £20.00 |
| 394 | An upholstered armchair £10.00 - £20.00 | 428 | 14 model racing cars including Corgi, MIRA, Matchbox £20.00 - £30.00 |
| 395 | A Lebus Link furniture dressing table £15.00 - £25.00 | 429 | An oak TV stand £10.00 - £20.00 |
| 396 | A gateleg table £10.00 - £15.00 | 430 | A Bentwood chair and side table £10.00 - £15.00 |
| 397 | A child's dolls house with contents £15.00 - £25.00 | 431 | A kitchen table with drawer £10.00 - £20.00 |
| 398 | A 3 drawer chest £10.00 - £15.00 | 432 | A pair of rural scenes with cows in river £5.00 - |
| 399 | 2 sets of 4 tier glass and chrome shelves £10.00 - | | £10.00 |
| | £20.00 | 433 | A gilt framed oil on canvas Lake Scene signed Asman ? £10.00 - £15.00 |
| 400 | A Dimplex electric fire model CHT20 £15.00 - £25.00 | 434 | A framed and glazed 3D piture of an Edwardian lady £10.00 - £20.00 |
| 401 | A wooden TV stand £10.00 - £20.00 | 42E | · |
| 402 | A retro dining table with 4 chairs £20.00 - £30.00 | 435 | A framed and glazed 17th century map of Norfolk by Johan Blaeu - published by the Royal |
| 403 | 2 wall hanging picture rugs £10.00 - £20.00 | | Geographical Society £5.00 - £10.00 |
| 404 | A pair of wing back arm chairs £10.00 - £20.00 | 436 | A framed mirror with floral decoration £5.00 - |
| 405 | A dining table with 1 leaf £10.00 - £15.00 | | £10.00 |
| 406 | A TV stand with Toshiba DVD player £10.00 - £20.00 | 437 | An upholstered armchair (matches lot 438) £10.00 - £20.00 |
| 407 | A collection of porcelain headed dolls including Leonardo £10.00 - £20.00 | 438 | An upholstered armchair (matches lot 437) £10.00 - £20.00 |
| 408 | A circular painted dining table and 4 chairs £10.00 - £20.00 | 439 | A brass standard lamp with shade and smokers stand £10.00 - £20.00 |
| 409 | A Rolleiflex SL35 ME camera with zoom lens EF | 440 | A cuckoo clock £10.00 - £20.00 |
| | 24-105mm 1:4 £10.00 - £20.00 | 441 | A late Victorian sideboard with glaze top cabinet £10.00 - £20.00 |
| 410 | 2 bowler hats £15.00 - £25.00 | 442 | |
| 411 | 2 pairs of binoculaurs - Russ of London 12x40 and Vivitar Sport Series 10x50 £20.00 - £30.00 | 443 | A collection of 1950s / 1960s History Today |
| 412 | A set of bedside drawers £10.00 - £15.00 | 444 | magazines £10.00 - £20.00 |
| 413 | A 2 over 3 chest of drawers £10.00 - £15.00 | 444 | An oak 7 tier bookcase £10.00 - £20.00 |
| 414 | A pair of brass based Tiffany style lamps £40.00 - £60.00 | 445 | A quantity of books on history and flora £10.00 - £20.00 |
| 415 | A set of 8 wheelback chairs £10.00 - £20.00 | 446 | An oak 5 tier bookcase £10.00 - £20.00 |
| 416 | A 3 seater sofa and matching armchair £10.00 - £20.00 | | |
| 417 | A cream sofa £10.00 - £20.00 | | |
| 418 | A 2 seater sofa a/f with matching armchair £5.00 - £15.00 | | |
| 419 | A swivel armchair with matching stool £10.00 - £20.00 | | |
| 420 | A 3 piece Burdekin conservatory suite £15.00 - £25.00 | | |
| 421 | An upholstered armchair £10.00 - £20.00 | | |
| 422 | A pine dining table with 4 chairs £20.00 - £30.00 | | |
| 423 | 2 fire screens with needlework £10.00 - £15.00 | | |
| 404 | A draw loof dining table with 4 aboirs C10 00 | | |

BidMaster Office

424

£20.00

A draw leaf dining table with 4 chairs £10.00 -